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BLOCK .. LOT : KAKUHITSU MENSEKI SUMIKIRI.SUIRG MENSEKI

114 BLOCK . 3171.26318640

LOT - 612.2306662
LOT , 334.809629
LOY 701.126233
LOT 445,090720
LOY 187.454814
AOY . 138.057316
LOT 300.117171
> LOT 332.,207698
A0 120.161319
e . = 1.989899
{ 6 AZ¥Y 1.999426
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e e TOTAL = L L. 5171.261562 _ 5.98%9325
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i

1

¢

150242.596
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150166.683
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.150208,.364

150209.83¢9
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538516.250

L 38514.189

38512.591
38541.823
38566.013
38570.455
38580.445

- 38578.767

38516.250
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SEKI
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38500.000

38514.189

58525.649
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38530.467
38516.250
56514.189
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SEK1

o

0.58500.000

38528.079
385£5.649
38541.699
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38543.977
38544.085
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- 1111.646250

1537.576796
1405.986606
5942.881008
9413.189748
5461.248870

6054.692925

5252.419861

6179.642064
6342.486360
3171.243180

1537.576796

1582.9382849

- 2284.248642.

1927.174086
2031.630961
1111.646250

0275.259584
1224 .4673325
612.236662

5084.169281
2863.762148
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59274357555
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3926.121930
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946.165087
861.337719
6532.107572
7371.407658
10011.373680

11471.135220

6105.545238
1223.056250

L2522.128424

861.337719.
27179.428236
3084.169281
2713.330086
1115.302500

946.165087

11499.732909

2284.248642
4580.176461
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4570.265748
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3oLoT
TENMEI X Y (X=X0)*(YN-1-Y0) (XN=1=X0) % (Y-Y0)
X0.Y0 150200.000 38500.000
0§114-138 150211.652 38541.699
- 08116-3 150211.666 38541.823 to 486.6460534 t o 487.321596
0S114-4 150262.096 38566.013 t 1760.581008 +  770.107658
05114-11 150242.395 38568.665 o 2798.621135 ¥ 2890.521840
0811419 150208.109 38573.928 + 556.804485 *3134.177560
08114-28 150203.924 38542.603 + 290.093472 t 345.467727
0511418 150211.652 38541.699 t 0 496.410156 * o 163.626876
+ 6388.970790 +7791.223257
MENSEKI = 1402.252667
MENSEKI = 701,126233
4 LOT
TENMET X Y (X=X0)*(YN-1-Y0) (XN=1-X0)*{(Y-YO)
X0.Y0 150100,000 38500.000
0811423 150203.924 38542.603
0511419 150208.109 38573.928 t 4605.767727 t 7682.893472
05114-20 150192.674 38576.297 + 6851.203472 +  8248.392373
20811423 - 150190.197 - 38558.256 t6881.760509 * 5398.816544
0511424 150194.081 38557.796 t 5480,782736 t o 5213.025812
08114=25 = 150192.185 . 38543.977 o 5327.924260 ¥ 4137.400137
051146-28 150203.924 38542.603 * 4570.265748 + 3927.357555
+ 33717.704452 + 34607.885893
BAI MENSEKI = - 890.181441
MENSEKI = 445.090720
5 LOT
TENMEI X Y (X=X0)*(YN=-1-Y0) (XN<T=-X0)#(Y-YO)
X0.Y0 - .150100,000 38500.000
08114-23 150190.197 38558.256
0811420 - 150192.674 38576.297 .+  5398.816544 +  6881.760509
0s114-12 150175.490 38578.935 t 5759.660530 *7315.222190
20811410 - 150175.265 - 38578.767 t o 5941.062775 ¥ 5946.120830
05114-13 150174.658 38574.347 + 5880.586686 +  5595.726955
2.08114-21 - 150184 .344 -~ 38573.200  +  6270.723368 Lt 5464,965600
08114-~22 150182.421 38559.176 t6033.217200 t 4991.140544
- 08114-23 - 150190.197 38558.256. + 5337.497672 +. 4801.517776
L ¥ 406271.544775 + 40996.454404
BAT MENSEKI = 376.909629
MENSEKT = L 187.4543814
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X
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150168.409
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X
150100.000
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- 150177.514
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Y C(X=X0) % (YN=1=Y0)
- 38580.445 +  S481.248870
- 38578.9%5 £ 6072.793050
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